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True or False:
_____.
1.

[image: image1.wmf]y

x

2

log

2

log

 = 
[image: image2.wmf]y

x

log

log


_____.
2.
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_____.
3.
logy (x y)n = n logy x + n

_____.
4.
(log x)2 = 2 log x 

_____.
5.
log (x +y) = log x + log y 

_____.
6.
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9.
ln (
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_____.
10.
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11.
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_____.
12.
e2lnx = 2x
_____.
13.
log (2x1/2) = (1/2) log (2x) 
_____.
14.
log (
[image: image11.wmf]y

x

10

) = 1 + log x - log y 
_____.
15.
log(10
[image: image12.wmf]x

) – log 
[image: image13.wmf]x

10

 = 
[image: image14.wmf]2

1

.

_____.
16.
log2x = 2logx


_____.
17.
The half-life of Bismuth is 5 days.  Then 75% of 


an original amount will cease to be radioactive 



in 10 days.  
_____.
18.
An amount invested at 10% compounded 




semiannually will double in 10 years.
8.    Pump A can fill a tank in 6 hours.  Pump A and B together can fill the same tank in 3.5 hours.  How long will it take pump B to fill the tank alone?
9.    Solve each inequality and graph the solution set:
    (a).    |x + 3| < 4
    (b).    |x - 2| > 5
10.   Subtract the complex numbers and simplify:
        (3+2i)/(1+2i) - 1/(1-2i) = 
11.    Express the complex number in the form a +bi:
         (5 - 2i)/(4-3i) = 
12.    The ladder problem: 
A ladder 10 ft long leans against a wall. The bottom of the ladder is 8 ft from the wall. The bottom is then pulled out 1 ft further. How much does the top move down the wall? 
13.   Solve using the quadratic formula.  Show all the steps, otherwise no credit:
        2x2 -8x -3 = 0
14.   Solve the radical equation and check:
        sqrt(2x+1) - sqrt(5-x) = 2 
 

15.    Find the equation of the line through the point (4, -2) and perpendicular to 
the line 3x - 5y = 10.
 

16.    Complete the square, find the Vertex, the axis of symmetry, the x-intercepts, the y-intercept, and graph the parabola: y = -x2 + 5x -4. 
 

 

17.    Let f (x) = x / (x-2), and g (x) = 1 / (x-1).
        Find the compositions f◦ g (x) and g ◦ f (x).  
 

 

18.    Consider the function f (x) = 2x / (x - 1).  Give

·  The Domain 

·  The Vertical Asymptote 

·  The Horizontal Asymptote 

·  The Graph. 

 
19.    Find the following logarithms:

·   log2 (2sqrt(2)) 

·   100logx  

·   10logx - logy  

20.    Express as a single logarithm and simplify:
         log x + log y - log z  - log w 
 

21.    Solve for t.  Use a calculator. Round off your answer to two decimal places:
         e-3t = 0.65 
 

22.    Solve for x:  log (x + sqrt(2)) + log (x - sqrt(2)) = 1. 
 

 

23.    In Chemistry the acidity of a substance is measured using the pH, which is

         defined as follows:  pH = - log [ H+ ],

         where H+ is the hydrogen ion concentration in moles per liter.
        (a)  If  H+ = 4.5 x 10-9 , find the pH.

 

        (b)  If the pH = 7.8  find the H+ .  

 

 

24.  Suppose $50,000 in two years grows to $56,000 compounded quarterly. 
What is the interest rate?

 

 

25.  How old is a mummy that has lost 37% of its Carbon-14?
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